بسم الله الرحمن الرحيم

رب اشرح لي صدري * ويسر لي أمري * واحلل عقدة من لساني * يفقهوا قولي

Q1. In the formation of HCL by the parietal cell , the transport of H+ across the parietal cell is coupied with the transport of :

1.* K.
2.Cl.

3.HCO3-.

4.Ca.

5. Na.
Q2. most of the body's homeostatic control mechanism operate on the principle of negative feed back . An example of negative feed back mechanism is :

1.* the secretion of insulin and blood glucose level.

2. the rapid rise of luteinizing home during ovulation in the female.

3. the rapid rise in the Na conductance upon depolarization to the threshold .
4. the formation of blood clot following blood vessels injury.
5. the decrease myocardial contractility during heart failure.

Q3. which fluid compartment contains about 67% (by volume) of all body water ?
1. increase fluid.

2. plasma.

3. lymph.

4. *extracellular fluid.

5. Interstitial fluid.

Q4. what is the total water of an individual who has 10% body fat and weight 80 Kg ?
1. 42 L.

2.45 L.

3.49 L.

4.*52 L.

Q5. what of these events is rate limiting and saturable ?

1. simple diffusion of uncharged solutes.

2. movement of ions through membrane ion channels.

3. the movement of oxygen molecules across cell membrane .

4. * Facillated diffusion .

5. osmosis .

Q6. blood analysis showed that a hematocrit is 40 assume that the plasma volume is 3600 the blood volume of the patient is in liters is :
1. 36.

2. 40.

3.56.

4.*60.
Q7. 150 mg of sucrose was injected into 70 Kg man , The plasma sucrose level after equilibrium is 0.01mg/ml . 10 mg sucrose has been lost in urine or metabolized during the mixing period . The volume of distribution of glucose is :

1. 42 L.

2. 28 L.

3.* 14 L .

4. 11 L .

Q8. deuterium oxide, D2O and insulin were injected into a 30 years old man the volume of distribution of insulin was 14 and that of deuterium oxide was 42 L you can conclude that :

1. *ICF volume is 28 L.

2. ECF volume is two third of TBW.

3. the plasma volume is about 7 L .

4. interstitial fluid volume is 10 L .

5.the lean body mass is 70 Kg.
Q9. Which condition causes increase ECF osmolarity :

1.water interaction .
2.*dehydration.

3.renal failure.
4.hemorrhage.
5. saline infusion.
Q10. the rate of simple diffusion of an uncharged solute across the cell membrane is inversely proportional to :

1. the membrane area.
2.the concentration gradient.

3.the diffusion coefficient of the solute.

4.*the number of receptor protein in the cell membrane.

Q11. secretion of hydrogen ions by partial cells in the stomach :
1.is an example of secondary active counter transport.
2.occurs via facilitated diffusion.
3. *is a type of primary active transport .
4. occurs in exchange of Na ions.
5. occurs in exchange of bicarbonate ions.
Q12. Sequestration of Ca into intercellular cellular stores like the sarcoplasmic reticulum (SR) in muscle cells occurs via :
1. secondary active transport .

2. facilitated diffusion .

3.*Ca pumps.

4. contransport with Na ions.
5.primary active transport in exchange of Mg ions.

Q13. All the following sentence about Membrane potentials are EXCEPT :

1. it decrease a separation of changes across the cell membrane.
2.* at resting it is very close in value to the equilibrium potential of Na+   .
3. cells can not be excited without + ve resting membrane potential.
4. The Na-K pump plays an important role in its generation .
5.The selective permeability of the membrane to ions is essential requirement to generate it .

Q14. Calculate approximately the resting membrane potential from the following values {K}in=200 mmol/L {K}out=20 mmol/L constant number 61:

1.120 mV.

2.*60 mV.

3.80 mV.
4. 70 mV.
Q15. When a stimulate is applied to a nerve cell it :

1. open sodium voltage channels.

2. activates calcium inward current .

3.activates K voltage gated channels .
4. opens chloride voltage influx.
5.*Change the membrane permeability to ions.
Q16. The initiation of an action potential in skeletal muscle :

1. Requires spatial facilitation .
2. Requires temporal facilitation .

3. *Requires the release of acetylcholine .

4.in inhibition by a high concentration of Ca at neuromuscular junction.
5. requires activity of acetylcholinesterase enzyme.
Q17. all the following sentences are correct except :

1. * the spatial summation is produced by increase rate of stimulation.
2.the negative charge at the mouth of Na gates prevent chloride ions from entering the cell during Ach excitation.
3. During relieve refractory period a second action potential can be produced by stronger stimulate then the normal.
4. The graded potential have no absolute refractory period.
5. The signal at the neuromuscular junction is always excitatory.
Q18. A signal at an inhibitory synapses :

1. increase the Na gates .

2. decrease the threshold level .
3. * opening K gates .
4.increase Ca inward current.
5. increase the threshold level .
Q19. Myasthenia gravis patients can be relived by :

1. Curare.

2.* Physostigmine.

3.increasing Acetyl cholinesterase enzyme activity.
4.increse amount of ATP in NMJ.

5. decreasing the number of Ach receptors.
Q20. which of following fibers have the fastest conductions:

1. autonomic C fibers

2. autonomic B fibers.

3.* alpha A fibers

4. Beta A fibers.
5. Gamma A fibers.
إذا كنت تحبّ السرور في الحياة فاعتنِ بصحتك، وإذا كنت تحبّ السعادة في الحياة فاعتنِ
بخلقك، وإذا كنت تحبّ الخلود في الحياة فاعتنِ بعقلك، وإذا كنت تحبّ ذلك كله فاعتنِ بدينك.
Q21. Acetylcholine receptors are competitive blocked by :

1. nerves gas.

2. Physostigmine
3. black spider venom.

4. botulinum toxin

5. * curare.

Q22. hyperpolarization at the end of an action potential is due to :

1. chloride moving outward.

2.* efflux of K+ through K+ channels.

Q23. stretch summation is produced by :

1.* increasing rate of stimulation.

Q24. choose the correct sentences temporal summation occurs :

1. *when several EPSPs from single presynaptic input until  to reach threshoidy.


Q25. the resting membrane potential:

1.* is much closer to equilibrium potential for K than Na.

Q26. graded potentials:

1. *Can be summed up in order to reach threshold.

Q27. saltatory conduction :

1.* involved the impulse jumping from  node of ranvier node to adjacent

Node .
Q28. the shifting of tropomyosin from its normal postion occure when :

1.* Troponine C binds Ca+.

Q29. which of the following is not step in the neuromuscular Transmission?

1. * increase Na-K pump activity .

Q30. The muscle contraction all the following correct EXCEPT :

1. power stroke is produced when energy is released from ATP hydrolysis.

2. * the Velocity of the muscle shortening is directly proportional to load.

Q31. force of contraction in health skeletal can be increased in human body by all the following EXCEPT :

1.* increasing the amount of Ach available for contraction.

Q32. the direct effect of Ca+ when released into the cytoplasm is to :

1. *bind to troponin C to uncover the action active sites.

إن الله خلق الإنسان ويعلم ما يشقيه وما يسعده ، فكل الشقاء في الانحراف عن منهج الله " وَمَنْ أَعْرَضَ عَنْ ذِكْرِي فَإِنَّ لَهُ مَعِيشَةً ضَنكًا " وإن شعر الانسان بالسعادة الوهمية . وجعل الله السعادة الحقيقية في دينه واتباع رضاه "مَنْ عَمِلَ صَالِحًا مِنْ ذَكَرٍ أَوْ أُنثَى وَهُوَ مُؤْمِنٌ فَلَنُحْيِيَنَّهُ حَيَاةً طَيِّبَةً " وإن أحس بالتعب الزائل ، فالسعادة كل السعادة في رضى الله ، في الخير والمحبة ، والطهر والعفاف ، والايمان والصلاح ، والصدق والامانة ، والصلاة والاستقامة وإن من روعة هذه القيم أنك تشعر بالسعادة إذا تلفظت بها ! فكيف ستكون سعادتك إذا طبقتها !!
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